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ection : Question relat ed to knowledge of Computers of CCC level of NIELIT
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wE 8?7
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Q.3 Prafafiad & Fi=, et orgede (Srore) & opet e =t o st | deman &2
Ans (1. BT &g

7S 2. i

7% 3. wafdne

< 4. g

Q.4 SRAM f 3arR's’ @1 &7
Ans O i

X 2. ity
¥ £

< 4. fimEa

Q.5 Frfafa g 8 Ped g o apen duge Jead qien oA 7
Ans "1 NSFNET

< 2. ASAPNET

< 3. CNNET

o 4 ARPANET

Question ID : 5406262459
Status : Answered
Chosen Option : 4

0.6 Feafafasd @ S 9o os sgeott wm (s J9) vidsi= =@ @2
Ans  off 1 Top

75 2 TELNET

/< 3.HTTP

X 4 FTP

Question ID : 5406262462
Status : Answered
Chosen Option : 1




0.7 Frafaf@Emd & o o g = a8 27 o o o fade 39 2 o s dgam =g d o
#a F zof = wea § @ien oy & frn on w3 5 anods mra anft o amasgs ma i )

Ans  BC 1 #NULL!

< 2. #Num!
o 3 #ua
75 4. #NAME?

Question ID : 5406262453
Status : Answered
Chosen Option : 1

0.8 #1399 (Linux) &, o= wigw a1 e (aradasd) =t fAffe =0 4 o vgar=sat
( EEfmrae) Zia ogarn oran g, e sRgr e 2

Ans 31 PiD
«2. HEAE (Inode)
2% 3. &% (Tnode)

2% 4. itz (Vnode)

Question ID : 5406262436
Status : Answered
Chosen Option : 1

Q.9 CAD = qof =g =1 7
Ans  of 1 G s e
2% 2. dex arthsHt R
7S 3. Fg sbet Fam
X 4. FEET USRS 28
Question ID : 5406262427

Status : Answered
Chosen Option : 1

Q.10 FrafEfEm arewtaies g g =1 a1 = g
=2+16/2"1*3

Question ID : 5406262454
Status : Answered
Chosen Option : 1




Q.11 Which of t he following is used to move the contents of the window to see
information that is currently out of view?

Ans ( 1. Scroll bar
x 2. Minimise button

x 3. Status bar

x 4. Title bar
Question ID : 5406262433
Status : Answered
Chosen Option : 2
.12 Prafafem e 4 / s fierea 1 o3 #31 Question ID : 5406262424
) Status : Answered
s ?( 1.EPROM Chosen Option : 4

75 2.DRAM
75 3.SRAM

o 4 fmi

0.13 freafaf@Ea & & e o v du Seadk datatef T &
Ans o Yo

25 2 wr
2% 3 fm
25 4w

Question ID : 5406262456
Status : Answered

Chosen Option : 1

Q.14 fi=tw 7 (Windows 7) & _____ srerm=afer e §, o & o aem ), =i oo
=T et & WHeE | g E

Ans X dim
X 2=
25 3. am

Question ID : 5406262432
Status : Not Answered
Chosen Option : -




Q.15 WIgHIHITE ga | £ wraft = gt w3 & fag T it ZaTg |

Ans Question ID : 5406262452
X 1.F1 Status : Answered
x 2 F5 Chosen Option : 3
v N
725 4. F11

0.16 TH.TH.-TE 2007 & way A, Py o & = w1y | s wg g

(i) wrgentwtoe a fagde & o damae A A, Al (Normal) =7 & o sifdt= ghan &
(i) o= wwa & U & aifies Argertaiee a4 Segie T o a@d § s s avlt =t g ary
wrmfe (ufZe) fso on awa

Ans O (i) - s, (il) - sEE
“2.[{! e (ji) = Iy
25 3.() - ¥, (i) - T

< 4 (i) - =, (i) - T
Question ID : 5406262441
Status : Not Answered
Chosen Option : -

Q.17 Fugex womet & dau &, GIG0 w1 qof = = #7
Ans « 1. M= 24 M= #3E (Garbage in garbage out)
X 2. U7 59 UTE #9E (Gross in gross out)
x 3. e FEEfeE e AT3EYE (Garbage instaliation garbage output)
x 4_ "immange g MimEnEe #ma7 (Gigabyte in gugabyte out)
Question ID : 5406262420

Status : Answered
Chosen Option : 1

Q.18 Which of t he following is NOT a valid cell address in Microsof t Excel?
Ans X' 1. AD205

X 2. AA256
W 3. z8A$250
75 4. A$260

Question ID : 5406262449
Status : Answered
Chosen Option : 4




Q.19 Which of t he following is a time-sensitive service on t he int ernet ?
Ans X' 1 Email
x 2. File transfer
V 3. Internet telephony
x 4. File download
Question ID : 5406262461

Status : Not Answered
Chosen Option : -

Q.20 7 =1 ASCII H=Z 00110111 #1 8 =71 ASCI =tz =01 gim?
Ans  of 1 00111000

7< 2.00111001

7< 3.11001000

75 4.00110010
Question ID : 5406262428

Status : Not Answered
Chosen Option : -

Q.21 A set of rules that governs data communicat ion is called:

Ans X' 1 standard

x 2. Topology
x 3. Networking

( 4. Protocol

Question ID : 5406262460
Status : Answered
Chosen Option : 4

Q.22 MFLOPS =T 27
Ans X o et GPU Y ERE S & g B g
of 2. s S GPU Frarfa il e & forg e At B

2% 3w o el g (S o) &)

25 4. o awwn ey wi T (A6 g zE) A & g R s )
Question ID : 5406262422
Status : Answered

Chosen Option : 2




Q.23 URL =1 aref &:
Ang XLgﬁmﬁ'ﬂHa‘ﬂﬁﬂJnique Resource Label)

(2. gfmrin i et (Uniform Resource Locator)
x 3. gftres ¥t e (Unigue Reference Label)
x 4. gimwit ¥ Akt (Uniform Reference Locator)
Question ID : 5406262464

Status : Answered
Chosen Option : 2

Q.24 md* “‘fﬁm T =T .ﬂﬁt? Question ID : 5406262443
. Status : Not Answered
Ans X1 Fert st w0 & S T & g geEe o Al g @ Chosen Option :

F< 2. ) i waifa s @ e a &y ol iz g

o 3. et s ot Pt 1 o g & e o Rt ad i st A g e & g

25 4. At awis it arefirt & ara o A ar # wes wh B

Q.25 Which of t he following menu it ems is used in Microsoft PowerPoint 2016 t o seedif
ferent presentation view options?

Ans X 1. Review

x 2. Home
W 3. view
x 4. Design

Question ID : 5406262468
Status : Answered
Chosen Option : 3

Q.26 ATEEIETw TRt adiie & e e uuf GFa Fa A 7
Ans <"1 15A8

< 2.5m18

< 3.81A8

o 4 5481

Question ID : 5406262447
Status : Answered
Chosen Option : 2




Q.27 What is t he label of t he first column of a Microsoft Excel worksheet ?

Ans  of 1A
75 2.AA
X 3.z
a0

Question ID : 5406262446
Status : Answered
Chosen Option : 1

Q.28 mrgwmiwTee g F dtefl 3 offe ofed wiem & fremo o= & o odw 7 gl @ Question ID : 5406262448

Ans « 1.4 Status : Answered
x 2. 4E Chosen Option : 1

75 3.45
75 4.54

Q.29 Which of the following charact eristics of a comput er makes it capable to carry outa
job wit hout any human int ervent ion?

Ans x 1. Diligence
x 2. Accuracy
( 3. Automatic
x 4. Versatility
Question ID : 5406262419

Status : Answered
Chosen Option : 3

Q.30 Which keyboard short cut is used to move t he insertion point t o the beginning of a
Microsoft Word document ?

Ans X' 1 CTRL+End
< 2. CT RL+Enter
J 3. CT RL+Home
75 4. ALT +Home
Question ID : 5406262437

Status : Answered
Chosen Option : 3




Q.31 Frafafir el & & @7 256 Fravs & w2 Question ID : 5406262425
An { Status : Answered
& 1. 128 amEga

Chosen Option : 1
25 2. 4 Feitargea

25 3512 ey
25 4.1 Feftarge

Q.32 fFr=farfam el § 4, SioE sewiaive ofaw dige fefdm § o =€ wngs wiren & dratd
yifdame F &7

Ans X1 Al+N
o 2 ci+m
25 3. Alt+M
25 4.cri+N

Question ID : 5406262467
Status : Answered
Chosen Option : 2

Q.33 Which of t he f ollowing requires cont inuous ref reshingto retain data?
Ans X' 1. SRAM

75 2. EEPROM

75 3. EPROM

o 4 DRAM

Question ID : 5406262426
Status : Answered
Chosen Option : 4

Q.34 State whet her the following st at ements are true or false.

(i) WinZip does not do any compression.
(i) Linux is a system software.

Ans x 1. (i) — True, (i) — True
X 2. (i) - True, (ii) - False
x 3. (i) - False, (ii) — False
“ 4. (i) — False, (i) — True
Question ID : 5406262429

Status : Answered
Chosen Option : 4




Q.35 Click the if you want to get a window out of the screen temporarily wit hout
closing it.

Ans ( 1. minimise button
x 2. scroll bar
x 3. maximise button

x 4. status bar

Question ID : 5406262434
Status : Answered
Chosen Option : 1

Q.36 A CPU directly interacts with a to access data during a program’s execut ion.
Ans  of 1 RAM

X 2. ROM
75 3. hard disk
x 4. magnetic tape
Question ID : 5406262421

Status : Not Answered
Chosen Option : -

Q.37 What is the value of the following Microsoft Excel function?

Ans X 11
X 2.2
75 3. Error
W 23

Question ID : 5406262455
Status : Not Answered
Chosen Option : -

Q.38 Which of t he following facilit at es creating and printing letters and emails, or labels
and envelopes for a group of persons in Microsoft Word?

Ans ( 1. Mail Merge
/X 2. Pivot Table
x 3. Drop Cap
x 4. Pagination
Question ID : 5406262442

Status : Answered
Chosen Option : 1




0.39 "EmEwE v | ot @ & aifem da F 9 & fog et aiiées o g7
Ans x 1. Alt+right amow

J 2. Ctri+right arrow

X 3. Ctrl+left arrow

X 4. Ctri+top arrow

Question ID : 5406262450
Status : Answered
Chosen Option : 2

Q.40 Which of t he f ollowing is defined as a global collect ion of comput er net works t hat are
linked t oget her by devices called ‘ rout ers’ and use a common set of prot ocols f or
dat a transmission?

Ans J 1. Internet

X 2. LAN
75 3. VPN
x 4. Intranet

Question ID : 5406262457
Status : Not Answered
Chosen Option : -

Q.41 AIEHIAIR o 2007 & o Fesr g A, e o & &= an o= gt g g7
Ans 1 i

/X 2.

fdwﬁ

25 4

Question ID : 5406262438
Status : Answered
Chosen Option : 3

Q.42 sEmtRTT o 2007 & g A A A wTLE, uﬂqﬁaimm ol o, i v
we ot T geren et ) it v e @7

Ans X1 femEA
25 2. o A

{ 3.d=g
2K 4wt

Question ID : 5406262439
Status : Answered
Chosen Option : 3




Q.43 Each Microsoft Excel file is called a:
Ans X' 1. chart sheet

75 2.PDF

“ 3. workbook
X 4. worksheet

Question ID : 5406262445
Status : Answered
Chosen Option : 3

.44 wE 2019 e B il g, it aifadfin R o sl demo s 87
Ans O 1 fiEE 16
2 2. figme

o 3 FEE 10
725 4 FigmT

Question ID : 5406262430
Status : Answered
Chosen Option : 3

Q.45 A link, image or icon on a web page associat ed with another web page is called a/ an: Ans
25 1. URL
“ 2. Hyperlink
x 3. Add- ons

x 4. Plug- ins

Question ID : 5406262465
Status : Answered
Chosen Option : 2

Q.46 Which of t he f ollowing prot ocols handles exchange of messages bet ween e-mail
servers over a TCP/ SIP network?

Ans X1 FTP

X 2. HTTP
W 3.svTp

X 4 TELNET

Question ID : 5406262466
Status : Answered
Chosen Option : 3




0.47 F=fafEm & 4 F adats AJead § ge et Sead o fawmt o 87
Ans X 1. gz vl Szad (Wide area network)

J 2. FYHE WigaT dedd (Virtual private network)

x 3. vz ufedy Sead (Enterprise private network)

x 4. et Ui A7k (Local area network)

Q
Question ID : 5406262458
Status : Answered
Chosen Option : 2
Q.48 A is a secondary window t hat allows users to perform a command, asks users

a quest ion, or provides users wit h inf ormat ion.
Ans x 1. Menu bar

x 2. Drop-down list
x 3. Option box

“ 4. Dialog box

Question ID : 5406262435
Status : Answered
Chosen Option : 4

).49 faEtor 10 (Windows 10) &t e ad & ot Fawa wrar wm?
ans o1 2015
2% 2208
2% 32017
2% 42010

Q.50 Which of the following is NOT a valid way to delete the content of a cell in Microsoft
Excel?

Ans x 1. Select the cell and press the Delete key
x 2. Right-click on the cell and select ‘clear contents’
“ 3. Right-click on the cell and select ‘remove’

x 4. Select the cell and press the Backspace key

Question ID : 5406262451
Status : Answered
Chosen Option : 3

Section : General St udy & Logical Reasoning




Ans

Ans

Ans

Ans

Q.1 Which of t he following is NOT a fundament al right provided by t he Indian Const

itution?
x 1. Right to Constitutional Remedy
x 2. Right to Liberty
( 3. Right to Seek Labour

x 4. Right Against Exploitation

@ = sy @7
< 1. st

X 2
P< 3. T wid ) A R
“ 4. e/ R [ aEEs o

ferea amgm?
o 166
< 267
< 364
< 4.85

T : fafEage - aymast 7
X 1. g

Ja.gﬁm
X 4w

Question ID : 5406262486
Status : Not Answered
Chosen Option : -

02 s, zHFimigIFDwamgi) cwmoAdiIFeFmwERIR STofd D ZH o= g1 F

Question ID : 5406262475
Status : Answered
Chosen Option : 4

0.3 af fEeh faffe gz wian &, "PENCIL &1 '59" foman oran & &t 3%t gz wiar & 'ERASER' &1 &ar

Question ID : 5406262478
Status : Answered
Chosen Option : 1

Q.4 3% Presea &t g ot Atat o @ ot mer wEfEE @, B v g o age e @ wtioe @

Question ID : 5406262470
Status : Answered
Chosen Option : 3




Q.5 amm &t wanaf g 2l Question ID : 5406262481

Ans Status : Not Answered
x 1. g Chosen Option : -
25 2. fwin
25 3. ke
o 4 R

Q.6 “gferer qrewr fira dw @ o g2
Ans X-Lﬁjﬁq

Jz.qaa:n'#'

X aEw

7S 4. Ffsam

Question ID : 5406262488
Status : Answered
Chosen Option : 2

0.7 ‘e w sfieme ot dfers & few srgeds & sl aman 2
Ans (1 s 19
27X 2. o 30
of 3 T 21A

7S 4. sz 438
Question ID : 5406262485
Status : Not Answered
Chosen Option : -

Q.8 FHERE F T (F B AR 1200 okt et ofz o g F AT H ot
HET WA 21

Ans X1y sl
75 2. W e I
“3.ﬂa?€rq‘m'r'rm

25 4. T e




Q.9 Select an opt ion t hat gives t he name of a fruit whenallthe letters are re-arranged.Ans
75 1. GONMAE
75 2. NABANAN
o 3.HAPEC

75 4. VAUEAGU

Question ID : 5406262474
Status : Not Answered
Chosen Option : -

Q.10 et firfare gz wmar , ' WIT =t ' VXHJISU' foran aman @1 =it siman 1 oot et g,
"MONPCE' & fimnis srufa fa-wpfem &)

Ans  off 1 nOD

7% 2.J0T
75 3.ToP
75 4 REX
Question ID : 5406262477
Status : Answered
Chosen Option : 1
Q.11 Frafafea & @ oY o e gafem = &2 Question ID : 5406262482

Status : Answered

Ans O 1 s : weER swra oie s g o Chosen Option : 4

X 2. ot - s e ke e o
¢ 3. g : Tt niedt shRTe ward e
2< 4. e | arst gam = a g gard wg

Q.12 7 fimrea =t g ot et e @ weft wee whifm &, v wee gae o o v @ wfam &)
Harer : fein @ RifEwa
Ans ¢ 1 dree
25 2. gz
o 3 e

75 4. amgeiia
Question ID : 5406262469
Status : Answered
Chosen Option : 3




0.13 &y arét v & farm wUe & 9 ggd @i may ur?
Ans (1 e

2% 2 digieg

(3.5:;0“
2% 4 ward

Question ID : 5406262480
Status : Not Answered
Chosen Option : -

Q.14 34 7 =1 "= "1 i@ Agewra == a1 g7
Ans B R

o 2w
25 3. Fereedtelt - e
25 4. Pty wgrE
Question ID : 5406262479

Status : Not Answered
Chosen Option : -

0.15 Prefafia d @ st [tde g R §7 Question ID : 5406262487
Ans o ) Status : Answered
( 1. S R o — Chosen Option : 1
7% 2. wgre et
2< 3. T A5
25 4. gfw e

Q.16 fag e aga {ﬁﬂﬁﬁﬂﬁﬁﬂsﬂmﬁ areptar o R, (7) & = o= ity

Ans B

Question ID : 5406262471
Status : Answered
Chosen Option : 1




0.17 FreafafEm o amst & & = we fomedt 7 fneft v v wem € o o m g e s

T R
ans  of 1 m A
25 2. i
X 3T
X 4. T
Question ID : 5406262473
Status : Answered
Chosen Option : 1
0.18 PemfEnd d s o e gifeead Question ID : 5406262484

Status : Answered

Ans O gfF ([EXIM) : qawatd-guld d o sfzm Chosen Option : 3

o 2. smisfamdziont (1CIC) : $efmm #fEe 43 dertumm wiie st iR fits
7S 3. gyt (HDFC) : grafii 2awuiiz wea FiRem
25 4. mard (NABARD) : e e wie el 4 e daemaiie

| e ——
0.19 feg g gy &, Fe=fatam et § 4 == @ angia o g (7) & == o emgfie

Ans O
b
P
v

Question ID : 5406262472
Status : Not Answered
Chosen Option : -

| Q.20 Prefefam e (e 7, 2Rl (1) S et § @ S S e
12,14,18,24,32,7
Ans X1 40
W 242
25 344
Q 75 448

Question ID : 5406262476

Status : Answered
Chosen Option : 2

Section : General Hindi




0.1 s R S guftg sRE s s
Ans 1w

X 2. or

p R

W & s

Question ID : 5406262493
Status : Answered
Chosen Option : 4

Q.2 ‘=it wi\ @ ¢ & fong Iuges s Question ID : 5406262491
Status : Not Answered
Anz frardt
x 1 Chosen Option : -
< 2 wdveht
( 3. e
< 4. Frafim

Q.3 iy =rdt siteht mea = anfrfa fee et F ganm?
Ans xLM

X 2 sereet

27X 3. gt

(4.-31-“IHJT

Question ID : 5406262500
Status : Answered

Chosen Option : 2

0.4 =& o mpfeat F ste-wt s deez frd?
Ans J CER RS
2% 2. awrar

2% 3. ufE
Q X 4w @ e
Question ID : 5406262498
Status : Answered
Chosen Option : 1




Q.5 'Hrard e e EET & ot §, 98 Sy T 87
Ans x‘l_m@:ﬁﬁq

X 2. o

XB.W

W o

Q.6 smard wgrdtz v et i & frm aftrg aftes & wores o7
ans 1.

Jz.ma:ﬂ

PR

F N

Q.7 'witeft ufy-ufy s gan i war 5 s w1 - s e sfa s
Ans O 1 e
< 2 frerd

25 3. gemdter
Jd iy

Q.8 affa wardt armediT & dws S
Ans O ffa i

K 2 i

(S_FHQ'T{M

X . werd i Rt

Question ID : 5406262494
Status : Answered
Chosen Option : 4

Question ID : 5406262496
Status : Answered
Chosen Option : 2

Question ID : 5406262497
Status : Answered
Chosen Option : 4

Question ID : 5406262501
Status : Answered
Chosen Option : 1




0.9 'wwEor &6 o Hy g 87
Ans (1.-:1‘4 HZ

2< 2 @ waE

25 3. qami

2< 4. dedum

Question ID : 5406262495
Status : Answered
Chosen Option : 1

Q.10 Prafafam d & smeo £ gt ) agpg avag =t gf
Ans O andt i d s wifa
o 2. T ek il v @ A gan 21
< 3. gt a5 o dbger il & v & s Al <En
£< 4. siere e &1 e vige et & wme g
Question ID : 5406262490

Status : Answered
Chosen Option : 4

Q.11 o= arht orid, fm ot o am art e s e, wt e g F @t - m aimn e
Ans X 1. s

p R

25 3.3

of 4 s

Question ID : 5406262503
Status : Answered

Chosen Option : 4

Q.12 ‘& 9t §A har w=it-aw enfaat wea-dfes & das @ 9 T
Ans }(1a1é‘ma?nfji’r

25 2. e

of 3. &6 s

25 4. R

Question ID : 5406262499
Status : Answered
Chosen Option : 1




Q.13 Fr=faf@a | waaras |9 & Igre &t g
Ans X farer

75 2 Y

75 3. v

o 4 o

Question ID : 5406262492
Status : Answered
Chosen Option : 4

Q.14 "&F T o # [, ArEEa wfiery s - Ofs & it sE
s K=
of 2 ferd
X 3w
75 4.
Question ID : 5406262502

Status : Not Answered
Chosen Option : -

Q.15 AT GIH FIAFI YT T& ol 82
Ans X1 3T

W 2 3Rd

X 3@ad

F R

Question ID : 5406262489
Status : Answered
Chosen Option : 4

Section : General Englis

Q.1 The following sent ence is in jumbled order. Identify t he option that arranges t he
words of the sentence in a meaningful order.

Delhi lives in elder brot her my.
Ans “ 1. My elder brother lives in Delhi.

x 2. Delhi my elder brother in lives.
X 3. My elder brother Delhi lives in.

x 4. Delhi lives elder brother in my.

Question ID : 5406262504
Status : Answered
Chosen Option.:1




Q.2 Select the option that expresses the given sentence in passive voice.

A friend of ours is repairing t he roof .

Ans x 1. The roof is repaired by a friend of ours.
x 2. The roof is being repair by a friend of ours.
x 3. Theroof is repair by a friend of ours.

J 4. T he roof is being repaired by a friend of ours.

Question ID : 5406262512
Status : Answered
Chosen Option : 4

Q.3 Select the option that expresses the given sentence in passive voice.

They built t his house in 2019.
Ans x 1. T his house was build in 2019.

J 2. T his house was built in 2019.
75 3. This house is built in 2019.

x 4. T his house have build in 2019.

Question ID : 5406262511
Status : Answered
Chosen Option : 1

Q.4 Select the option that expresses the given sent ence in report ed speech.

" Brot her," said Poonam, * Have you been reading since morning?" Ans
x 1. Poonam asked her brother if he had been read since morning.
x 2. Poonam asked her brother if he had reading since morning.

( 3. Poonam asked her brother if he had been reading since morning.

x 4. Poonam asked her brother if he has been reading since morning.

Question ID : 5406262515
Status : Answered
Chosen Option : 3

Q.5 Choose the most appropriate preposition to fill in t he blank.

She was surprised see what he had done.
Ans X' 1 about

JZ.to
75 3.of
X4. in

Question ID : 5406262514
Status : Answered
Chosen Option : 2




Q.6 Choose the most appropriat e verb form of the following word.

RED
Ans x 1. Reds

x 2. Reded
x 3. Reden
( 4. Redden

Q.7 Choose the correctly spelt word.
Ans “ 1. Beggar

x 2. Begger
x 3. Baggar
x 4. Bagar

Q.8 Fillin the blank wit h the correct modal verb of the word given in the brackets.

These roses (abilit y) grow anywhere.

Ans o 1 can
&5 2. must
25 3. will
75 4. should

Q.9 Choose the correct negative form of the following sentence.

She looks very beaut if ul on the st age.

Ans x 1. She did not look very beautiful on the stage.
“ 2. She does not look very beautiful on the stage.
x 3. She do not looks very beautiful on the stage.

x 4. She does not looks very beautiful on the stage.

Question ID : 5406262517
Status : Answered
Chosen Option : 4

Question ID : 5406262518
Status : Answered
Chosen Option : 1

Question ID : 5406262507
Status : Answered
Chosen Option : 1

Question ID : 5406262508
Status : Answered
Chosen Option : 2




Q.10 Fill in the blank wit h t he most appropriat e article. If no article is needed, select ‘No art
icle required’.

Honesty is best policy.

Ans  of 1 the
x 2. an
x 3.a

x 4. No article required

Question ID : 5406262513
Status : Answered
Chosen Option : 1

Q.11 Fill in the blank wit h the most appropriat e int errogat ive pronoun.

wrot e ‘The Cant erbury Tales?
Ans x 1. Whose

x 2. How
( 3. Who
75 4. Which

Question ID : 5406262509
Status : Answered
Chosen Option : 3

Q.12 What will be the correct affirmative form of the following sent ence?
I did not see anyone ent ering his office. ANS
( 1. | saw someone entering his office.
x 2. 1 did see anyone entering his office.
x 3. | see anyone entering his office.

x 4.1 did saw someone entering his office.

Question ID : 5406262505
Status : Answered
Chosen Option : 1

Q.13 Choose the most appropriat e adjective form of the following word.
ADVENTURE
Ans x 1. Adventuree

x 2. Adventured
x 3. Adventures

( 4. Adventurous

Question ID : 5406262516
Status : Answered
Chosen Option : 1




Q.14

Ans

Fill in t he blank wit h t he most appropriat e option.

you do much gardening?

I have (know) her since 1990.

25 1. know
W 2 known
X 3. knows
75 4. knew

Ans x 1. Have

W 2 Do

x 3. Was

x 4. Are

Question ID : 5406262506
Status : Answered
Chosen Option : 2

Q.15 Fillin the blank with the correct form of the verb given in the bracket s.

Question ID : 5406262510
Status : Answered
Chosen Option : 2

Section : Domain Knowledge

Ans

Ans

Q.1 thRid wumE o, ardwor #TE & SETE i Wt fiR Y e @ dteea o weTE aEa 87

p R
Jz.az?'ﬁ
X 3 qmaadd
2 4 mvEA T E

0.2 wt=ar fftes e qure mara= oo s #r

“1.AHD1:|T;
/5 2.NOR itz

75 3.0RTT

75 4. NAND itz

Question ID : 5406262554
Status : Answered
Chosen Option : 1




Q.3 In a moving coil dynamomet er type, which type of dampingis provided?Ans
( 1. Air friction

x 2. Mechanical damping
x 3. Induction of cail

x 4. Eddy current

Question ID : 5406262574
Status : Answered
Chosen Option : 1

Q.4 Identify the source given below.

Ans ( 1. Current controlled voltage source
x 2. Voltage controlled voltage source
x 3. Current controlled current source

x 4. Voltage source

Question ID : 5406262524
Status : Answered
Chosen Option : 1

Q.5 Which of t he f ollowing is an advant age of t he double cage induct ion mot or over single
cage rotor?

Ans X 1. Low efficiency
x 2. Low slip
X 3. High efficiency

( 4. Low starting current

Question ID : 5406262584
Status : Answered
Chosen Option : 3

Q.6 The rat e at which the capacity of a battery is built up is known as: Ans

75 1.Q-Rate
x 2.D - Rate
75 3.R-Rate
o 4.C-Rate

Question ID : 5406262534
Status : Answered
Chosen Option : 4




0.7 U DC &iE W= S g 27
Ans 1 dvied vargds wier
27X 2. o Rl e e
« 3. AFHUTETECE T
2% 4. Forfr qamgE W
Question ID : 5406262561

Status : Answered
Chosen Option : 3

0.8 afEwwmBJT ﬁmmﬁtmimﬁmﬂ,;ﬂaﬁﬁmﬂ!imﬁmm
Ans X" i A
75 2. s g

X 3. @
of 4 afEm e

aeenmee . . 5406262549
Status : Answered

Chosen Option : 4

0.9 CFL &1 gof = am #7

Ans x 1. T wRieEE #0 (Canadian Fluorescent Lamp)
x 2 dhfedmas e =0 (Calcium Fluorescent Lamp)
X 3. #hEw vz #0 (Candela Flucrescent Lamp)

J-*L Fiedae v o0 (Compact Fluorescent Lamp)

Question ID : 5406262604
Status : Answered
Chosen Option : 4

Q.10 wrsfeer R aorar & Qv AeR@T & @
HTETF A4l 82 As X 1. 39 & &I ATYT STel TR Tl [Har
cici|

X 2. 77 @ AT 3o o
13.39 &9 § FF FIA TS FIHAF / TFIET FT AT

X 4. FBA gFa F1 QT FTFHAT HEATA
Question ID : 5406262608

Status : Answered
Chosen Option : 3




Question ID : 5406262601
Status : Answered

Chosen Option : 3
Q.11 U gata= o701 ofta= &t e ghan 22

Ans X1 500-800 5
75 2.1000-1200 @
o 3. 2000 -3500
75 4.100-300 %

Q.12 The EMF of a cell falls from 2.1 Vto 1.8 V when its terminals are joined to an

ext ernal resist ance of 4 Q. The value of t he current flowing t hrough the ext ernal
resistance is:

Ans o 1.045A
X 2.0.045 A
X 3.45A
X 4.45A

Question ID : 5406262529
Status : Answered
Chosen Option : 1

Q.13 A three-phase, 50 Hz induction motor has 8 poles and operat es at 20 percent slip. What
is the frequency of rotor current?

Ans X' 120 Hz
W 2 10Hz

75 3.50 Hz
75 4.100 Hz

Question ID : 5406262582
Status : Answered
Chosen Option : 4

Q.14

Ans J 1.

X 2

X 3.

X 4
Question ID : 5406262586

Status : Answered
Chosen Option : 1




Q.15 Which of t he following met hods is used to find t he synchronous react ance of a
synchronous mot or?

Ans x 1. T hermal method
x 2. Equal area method
“ 3. Potier's method

x 4. Circle diagram method

Question ID : 5406262597
Status : Answered
Chosen Option : 3

0.16 first arfer ErarageF = (super tension cable) & féng gieean &1 ¥ & g0 87
Ans K1 1-11 kv

W 2 11-33 kv

27X 3.66 kv & aiftrm

2% 4.33-66 KV

Question ID : 5406262652
Status : Answered
Chosen Option : 2

Q.17 firedt firge-dtelt (3=getee) & nferty o arowr= o gfey = & wara ghmr?
Ans O 1 wfahy wumEE @

2% 2wty agm

2% 3. vty gt wm, fiw wem

¢4. aieRe w2
Question ID : 5406262520
Status : Answered

Chosen Option : 4

Q.18 For armouring of underground cable, t he mat erial used is:

Ans ( 1. galvanised steel wire

x 2. wood

x 3. aluminium

x 4. copper

Question ID : 5406262656
Status : Answered
Chosen Option : 1




Q.19 The common name of control circuit used to drive lamps is:

Ans x 1. electronics power circuit
“ 2. electronics ballast
x 3. electronics protection

x 4. electronics device

Question ID : 5406262607
Status : Answered
Chosen Option : 2

0.20 =l # sir-amaen! w1 wain e w Peeiaia § | s s §2
Ans XLQ@‘Qﬂﬁﬂﬁﬁﬁmﬂﬁﬁq

“2. T nfE B &

xz.nﬁaﬁmmﬁﬂﬁﬁq

25 4. wgeen e e & g

Question ID : 5406262657
Status : Answered
Chosen Option : 2

Q.21 Which of t he f ollowing is NOT a paramet er onthe power curve of a wind t urbine?
Ans ( 1. Thermal limit

X 2. cutin
x 3. Rated wind speed

x 4. Cut-out

Question ID : 5406262641
Status : Answered
Chosen Option : 1

Q.22 SehiesdT AFT TATH SAAT A FAT APATIT gt / gar 82

Ans

1. Argersra 3iv amde A F Baor

2. grsgiare 3 ArzASa | @ Asor

3. grggiare 3iv ameta dw &1 Raor

X 4. Faer 3w dw

Question ID : 5406262600

Status : Answered
Chosen Option : 1




0.23 DC qlﬁ#ﬁﬂiﬁﬁﬁmﬂﬁﬁmmﬂmmﬁ
Ans ( 1. wogdes wa feen

7S 2. =wis Heewm fwn

x 3. e fieew
75 4. diez R
Question ID : 5406262556
Status : Answered
Chosen Option : 1
Q.24
Ans X 1.
X2
v
~ o4

Question ID : 5406262668
Status : Answered
Chosen Option : 3

0.25 == o PMMC Fuseor & efif=e o2 finvatan 75 mV ghan 8, &t 28 25 mA = aramiss zafan &)

50 A % ¥a g wha feudeem & fag siz ofdeiy = o @ gtme estion ID : 5406262575
Status : Answered
Ans x 1-015ma :n Option : 3
75 2.15m0
W 2 15mo
25 4.150 mD

Q.26 af% gw DC Rrfler stee mereht & el gonen thor AC amgf & orft @, ot senfem aemgef ______
gt

Question ID : 5406262566
Status : Answered
Chosen Option : 3




Q.27 Which of t he f ollowing is NOT a part of a nuclear react or?Ans
x 1. Reactor core
x 2. Moderator

75 3. shielding

( 4. Reactor battery

Question ID : 5406262620
Status : Not Answered
Chosen Option : -

0.28 Fr=farf@Em F & s o= (iluminat ion) # weEfem §7
Ans | i a teed w Fae

“2. ofard o At &

7< 3. 43R w aftay w Fan

7< 4. e i P

Question ID : 5406262603
Status : Answered
Chosen Option : 2

Q.29 afy maft= & 4 ga, 22 w=fe ofie 6 wiga wife & At wa afEn DC Aaft= & forg wige dawt o
=T ghm?

Ans X1 gl
W 2 5
25 3. 3w

25 42w

Question ID : 5406262559
Status : Not Answered
Chosen Option : -

Q.30 In a three-phase induction mot or, squirrel cage rot or:

Ans x 1. windings are kept open for flexible connection
X 2. windings are placed in the slots of the rotor core

« 3. solid bars of conducting material are placed in rotor slots and shorted throughend
rings on each side

x 4. solid bars of conducting material are placed in rotor slots and shorted through
resistor

Question ID : 5406262580
Status : Answered
Chosen Option : 3




Q.31 Which of t he f ollowing wiring syst ems is very cost ly?

Ans X' 1. Wood casing wiring
X 2. Cleat wiring
V 3. Conduit wiring

X 4. TRS wiring

Question ID : 5406262525
Status : Answered
Chosen Option : 3

Question ID : 5406262645
Q.32 o freds oo o g 7 Status : Answered

Ans (1F3=|T 3t T o o RET 3w Chosen Option : 3
< 2 qufh ok @ & vwedta e & arem
F< 3. igan i queft & ety R & wRm
X-L HeranTe 3 gl & peafia e & s

) Question ID : 5406262631
0.33 ol sFmam F, St = =t ofmror e gta Status : Answered

Ans x 1. freaum, smgfa Chosen Option : 2
o 2. da, o
X 3. it faegar-afer, wffEmde fege-ufs
X 4wt Rrge-afs, dee o

Q.34 The speed of a three-phase induction motor can be controlled by:

Ans X 1. reactive power control
X 2. temperature control
X 3. moisture control

V 4. armature voltage control

Question ID : 5406262666
Status : Answered
Chosen Option : 4




Ans

Q.36
Ans

Ans

Ans

Q.35 In radiometry, the unit of radiant flux is:

x 1. meter / second
x 2. lumen / watt

V 3. watt

x 4. lumen / meter

T e
v
X a

Q.37 O 2T AOTTEt Z1 T e wies e wepfa & gt 22

o 1.ac
75 2.0

25 3. amadi
25 4wy

g1 e 47
“1..:'1~-L-—<n"f—rrm=l
25 2. P s
25 3. Rm-um Rfwm
25 4. s Rfrae

Question ID : 5406262599
Status : Answered
Chosen Option : 2

Question ID : 5406262547
Status : Answered
Chosen Option : 3

Question ID : 5406262640
Status : Not Answered
Chosen Option : -

Q.38 warEfda & Rz dieedw & @9u d femn ale ard gtedw | 2z gtedw o wiem ofed =t e

Question ID : 5406262595
Status : Answered
Chosen Option : 1




Q.39 The algorit hm used t o ext ract maximum power f rom t he renewable sources is
known as:

Ans X1 pMMT
X oMTTP
o 3.vpPPT
X 4. TMMP

Question ID : 5406262634
Status : Answered
Chosen Option : 3

Q.40 FrrafafEm A & = e we & watiw i 7@ &7
Ans J 1. amgf

25 2. s
25 3. e
25 4 ¥

Question ID : 5406262615
Status : Answered

Chosen Option : 1

0.41 Taredt aivoniirs £ i & werd & forg dfdea ma (RRfeia qu) & g oize?
Ans o1 s e

25 2. e afte ey

2% 3. gt ol waw

< 4. dter ol e

Question ID : 5406262536
Status : Answered
Chosen Option : 3

Q.42

Ans “ 1.

X 2

< 3.

X a
Question ID : 5406262610

Status : Answered
Chosen Option : 1




Q.43 The reason for crawling in an induction motor is:
Ans X' 1. poor design

“ 2. harmonics
75 3. high load
x 4. low voltage supply
Question ID : 5406262585

Status : Answered
Chosen Option : 2

Question ID : 5406262629
(.44 sfe vsfirda wide & e mmo sns= oraa =ar §7 Status : Not Answered

Ans {1.A=1_B=D,C=\r,|:|=1 Chosen Option : -
X 2A=1B=0C=0,D=1

PC3A=0,B=0,C=Y.D=1

JC4A=1,B=0,C=Y.D=Y

Q.45 In a thermal power plant, t he role of a super heater is to:
Ans x 1. remove the moisture of water coming into plant
x 2. remove the moisture of steam present in the plant
x 3. heat the water present in the plant

( 4. remove the moisture of steam coming out of boiler

Question ID : 5406262619
Status : Answered
Chosen Option : 4

Q.46 FHITR FA A o3 &1 T rataAl & 49 e SR a1 oA A 3 feng wEi fam s aren g7 e
CESEESE 1

Ans O i
JZ_F-‘?I&.I-Z-:H'-I
75 3. btz

75 4. el
Question ID : 5406262594

Status : Answered
Chosen Option : 2




Q.47 The reliability of a conduit wiring system is:
Ans x 1. poor

x 2. good
x 3. very bad

( 4. extremely good

Question ID : 5406262526
Status : Answered
Chosen Option : 4

Q.48 The t hickness of insulation of conductors on cables depends on:
Ans x 1. current through cable

V 2. operating voltage

x 3. reactive power flow

x 4. power factor

Question ID : 5406262658
Status : Answered
Chosen Option : 2

Q.49
Ans X 1.
v
X 3.
X oa
Question ID : 5406262579

Status : Answered
Chosen Option : 2

Q.50 T HETHIHER FH Z1 T fiea-aiws e gra it 6 o s g7
Ans K| Rt w g o
Jz.m:ma:‘u BRI OFAL)
25 3. e o e g
2% 4. i @@ ad Zm
Question ID : 5406262644

Status : Answered
Chosen Option : 4




Q.51 Which of t he f ollowing t erms is used t o know t he usable capacity of a battery?

Ans x 1. Height of discharge
“ 2. Depth of discharge
x 3. Rate of discharge

x 4. Current of discharge

Question ID : 5406262535
Status : Answered
Chosen Option : 3

0.52 alg] (Ohm) & Froa & e 39 R & 977 21 mor=n &+ (o forg sr-19= (graph) =i R
T #1

Ans (110
Y ER
7S 3.40
7S 430

Question ID : 5406262522
Status : Answered
Chosen Option : 2

Q.53 50 Hz Fivea 3= et 3 fog, St ote aret e fers s &t ofe o ghfte
Ans <1 3RPM

o 2. 3000 RPM

75 3.30RPM

75 4.300 RPM

Question ID : 5406262593
Status : Answered
Chosen Option : 2

0.54 Hi9 & v angpfad afgi==1.6 mA, v=- 6.3 V&, &t R & ar £ morn =)

Ans ("1 394k0

2% 2.0394k0

2% 3.39.4k0
o 4.394k0

Question ID : 5406262541
Status : Answered
Chosen Option : 4




Q.55 Which of t he following is an INVALID state in an 8421 binary-coded decimal?
Ans X' 11001

W 2 1101
75 3.1000
£ 4.0100

Question ID : 5406262548
Status : Not Answered
Chosen Option : -

Q.56 DC = &t AC e | w=aiai we & fong wat fman o= ave seads oo wpenan §7
Ans B 1 DCDC FEE

75 2. frszrdl

Y ER

25 4. AC dieean Pitwen

Question ID : 5406262636
Status : Answered
Chosen Option : 3

Q.57 Prefaf@e § & R fgia & natn gea-tha teor stee & rd & Redaor @t & g B
T 27

Ans 1 gt @ e R
25 2.7 = um Fyam
J&.ﬁtﬁlﬁ'%@m

25 4. semtad @ it fam

Question ID : 5406262587
Status : Not Answered
Chosen Option : -

0.58 7 100 kW, 200 V ## iz Fegifn seqrde ot F smfer aftdty oo &1 sngffe frege-umr
T A =91 gIm?

Ans (1504

75 2.200A
25 3.100A
of 4 5004

Question ID : 5406262562
Status : Answered
Chosen Option : 4




Q.59

Ans X 1.
X 2
X 3.
v

Question ID : 5406262621
Status : Not Answered
Chosen Option : -

Q.60 foredt 3-tor tror witer o afy edor s & e
Ans O e A @ o

2 2. sren drer someh i &

25 3. mdn s A R daw i

o &z R

Question ID : 5406262583
Status : Answered
Chosen Option : 4

Q.61 A wattmeter consists of:
Ans x 1. four coils: two current coils and two potential coils
x 2. three coils: one current coil and two potential coils
( 3. two coils: one current coil and one potential coil

x 4. three coils: two current coils and one potential coil

Question ID : 5406262576
Status : Answered
Chosen Option : 2

Q.62 Which of t he f ollowing is NOT a condit ion f or parallel operation of DC generat or?
Ans x 1. Same percentage voltage regulation
x 2. Same voltage rating

« 3. Same operating temperature

x 4. Same percentage speed regulation of prime movers

Question ID : 5406262563
Status : Answered
Chosen Option : 3




Q.63 afyorfim £t sftesas sam & g o o gt 22
Ans  off 1 cmafy ) deaf= 1
25 2. amet/ dpaf =2
25 3. ahe e/ ety =2
25 4 amaEt + de =0
Question ID : 5406262572

Status : Answered
Chosen Option : 1

Q.64 A 220V, 6 pole, 50 Hz single-winding single-phase induct ion mot or runs at 97 percent of
the synchronous speed. What is the value of slip S?

Ans X1 077
W 2003
X 3097
25 4.0.66

Question ID : 5406262589
Status : Answered
Chosen Option : 2

Q.65 The ot her name of a secondary batt ery is:
Ans J 1. accumulator

x 2. circuit breaker
x 3. sensor

x 4. generator

Question ID : 5406262528
Status : Answered
Chosen Option : 1

Q. 66 9NV ST & Ha¥ A FAEA@T F T HlF @ wya g &2
Ans

1. deear fraor sty wRAfFandfe Rega-afa B o ddfta a9 §

2. deear o st wfFT Rega o feor owwe @6t @9

X 3. areear @aor 3T gl AEEor R wefa @ §

X4. dreear @aor 3y wfafrarfter Rega afFa @aaor owway @afa @@ @ Fquestion ID : 5406262623

Status : Not Answered
Chosen Option : -




Q.67 When is t he grounding t ransf ormer used?
Ans x 1. When neutral is available

x 2. When voltage level is to be changed
x 3. When reactive power is to be supplied

“ 4. When neutral is not available

Question ID : 5406262661
Status : Answered
Chosen Option : 4

Q.68 Which of the following convert ers is used in a DC drive system?
Ans x 1. DC-AC converter

x 2. AC-AC converter

x 3. Cyclo converter

“ 4. DC-DC converter

Question ID : 5406262665
Status : Not Answered
Chosen Option : -

Q.69 ht-=Hfw Irata & matn o Fgte FaAl it gk e oh [+1G Geh J1T T et o (oG
e = &1

ans  of 1 iR
2% 2w
25 3. MOSFET

75 4 ufEs

Question ID : 5406262609
Status : Answered
Chosen Option : 3

0.70 wa-w1 ( g 9o-wwur=) & R = am fEmom & Rg ogtn i oe el gtets Wi Reeeh
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Question ID : 5406262660
Status : Not Answered
Chosen Option : -
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Ans 1 g AC ghafRar

JE.H‘JDC;'—J‘-WH

XS. femor AC giafaam

2% 4. HVAC zimfiem

Question ID : 5406262647
Status : Answered
Chosen Option : 2

Question ID : 5406262531
0.72 forelt &=t Y e _____ marfd ol 21 Status - Answered

Ans ¢ 1. iR Chosen Option : 1
7< 2 diwearda
2% 3. i
2 4. etz

Q.73

Ans ( 1.

X 2

X 3.

X oa
Question ID : 5406262598

Status : Answered
Chosen Option : 1

Q.74 Which of t he f ollowing devices has bidirect ional current capabilit y?
Ans X' 1 |GBT

75 2.sCR
X 3.6T0
W 4 reT

Question ID : 5406262611
Status : Answered
Chosen Option : 3




Q.75 F=fafEa | |4 = a1 v gegfaf=ma frE- soaedt snfa 27
Ans K1 it wenfts

25 2. AC wehR w1 EafE
25 3. Eram wufts
o 4. OC v e

Question ID : 5406262613
Status : Answered
Chosen Option : 4

Q.76 Wit h an increase in t emperat ure, t he magnet ic suscept ibilit y of a f erromagnet ic
mat erial will:

Ans x 1. remain constant

« 2. decrease

x 3. increase and then decrease

x 4. increase

Question ID : 5406262537
Status : Answered
Chosen Option : 2

Q.77 The correct relat ionship of magnet ic suscept ibilit y is:

Ans x 1. Magnetisation + Magnetising force
“ 2. Magnetisation / Magnetising force
x 3. Magnetising force / Magnetisation

x 4. Magnetisation x Magnetising force

Question ID : 5406262540
Status : Not Answered
Chosen Option : -

Q.78
Ans X 1.
oo
v
X a
Question ID : 5406262581

Status : Answered
Chosen Option : 3




Q.79 FefafEa § 4 R voin Faat & dgeie & =0 F 38 G e g2

Ans XLM-!
2< 2w
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X 4 i ¥

25 211364 A

7S 3.11.364 A
o 211364

Q.81 ACFeem P min______ =t ______ divean & wuiafa & & g fear @ &)
Ans  off 1 acac

75 2.AC;DC

75 3.DCAC

7% 4.DC;DC

Q.82

Ans x 1.
X 2
v
X a

Question ID : 5406262659
Status : Answered
Chosen Option : 3

Question ID : 5406262569
Status : Answered
Chosen Option : 4

Question ID : 5406262667
Status : Answered
Chosen Option : 1

Question ID : 5406262542
Status : Not Answered
Chosen Option : -
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Question ID : 5406262627
Status : Answered
Chosen Option : 2

Q.84 Which of the following issues is associated with the series-connect ed capacitors ina
transmission line?

Ans x 1. Increase in power transfer capability
x 2. Control of voltage
( 3. Creation of sub synchronous resonance

x 4. Improvement in system stability

Question ID : 5406262624
Status : Answered
Chosen Option : 3

Q.85 Pt gk F e g anelt At P opdt gt @7
Ans O g e E
25 2. 5 ok wite & di F aier
?< 3. g armaene oS & we doft
ViR d

Question ID : 5406262533
Status : Answered
Chosen Option : 4

Q.86 faet DC maft= A, g g dvan 9 o war & e &
Ans B e o g S e

{2_%&:‘6 L
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Q. X 4. %o i ary dft o 4

Question ID : 5406262555
Status : Answered
Chosen Option : 2




0.87 FeafafEm & & = v gife =8 g7
Ans 1 ST
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2% 3. MOSFET

75 4.1GBT

Question ID : 5406262614
Status : Answered
Chosen Option : 1
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ans  of 1 v
7S 2. HVAC
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Question ID : 5406262650
Status : Answered
Chosen Option : 2

Q.89 Which met hod of t he f ollowing is NOT used f or laying of underground cables?
Ans x 1. Direct laying

x 2. Solid system laying

x 3. Draw in system laying

( 4. Neural network laying

Question ID : 5406262653
Status : Answered
Chosen Option : 4

90 FFgee g agfiar & @@ waw 7w §?

Ans x 1. F¥geT @3t 1 FE&AT - AR Fefaat A @
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Question ID : 5406262557

Status : Answered
Chosen Option : 3




Q.91
Ans

Ans

Ans

Ans

v
X 3.
X oa

Q.92 Which of t he f ollowing is a FACTS device?

x 1. Circuit breaker

x 2. Relay
x 3. Isolator

o 4. STATCOM

£< 1. g w2 Rk e
X 3. ol wde whaw
2< 4. =tz wfem

Q.94 For which t ype of diode, is t he reverse recovery time minimum?

x 1. General purpose diode
x 2. Fast recovery diode
x 3. Zener diode

« 4. Schottky diode

Question ID : 5406262519
Status : Answered
Chosen Option : 2

Question ID : 5406262663
Status : Answered
Chosen Option : 4

Question ID : 5406262654

Q.93 Pt (wredem) e & Rrged e (7gete0) Fadaaa

Status : Answered
Chosen Option : 3

Question ID : 5406262612
Status : Answered
Chosen Option : 4




Q.95 The property of Zener region of a diode is used for:
Ans “ 1. voltage regulation

x 2. moisture regulation
x 3. current regulation

x 4. temperature regulation

Q.93 P (aredar) wavre & Fogd e (7o) & o @ 21
Ans K1 gardh ot oz Pk g

X 3. 2 ol et et

2% 4. =z nfewm

Q.97 For a balanced t hree-phase syst em, the value of zero sequence components is:

Ans “ 1. zero
x 2. infinity
x 3. dependent on load condition

x 4. dependent on grid frequency

Q.98

Ans x 1.
X 2
X 3.
v

Question ID : 5406262553
Status : Answered
Chosen Option : 1

Question ID : 5406262570
Status : Answered
Chosen Option : 4

Question ID : 5406262630
Status : Answered
Chosen Option : 1

Question ID : 5406262523
Status : Not Answered
Chosen Option : -




Q.99 A bat t ery consist s of 20 cells — each of EMF 1.5 V — and int ernal resist ance 0.2 Q,
connect ed five in series per row and four rows in parallel. The EMF at t he out put
terminals of the battery is:

Ans X' 1075V

/X 2.0075V

375V
X 475V

Q.100 In an ideal t ransf ormer at no load, t he phase dif f erence bet ween primary volt age
and secondary volt age is:

Ans X' 1 90°
X 2.120°
W 3. 180°
75 4. 360°

g §7
Ans  off 1 mACT S TTE
2% 2. HVDC suzm
25 3. ity e

x 4. guEEmH]

Q.102 The syst em used to convert tidal energy into electricity is known as:

Ans x 1. hydro system
x 2. battery system
J 3. barrage system

x 4. storage system

Question ID : 5406262530
Status : Answered
Chosen Option : 3

Question ID : 5406262568
Status : Answered
Chosen Option : 3

0.101 firz # nfaferamfie fge- afes =t Pt = & g mobr R s arer @ goesor =

Question ID : 5406262662
Status : Answered
Chosen Option : 1

Question ID : 5406262646
Status : Answered
Chosen Option : 1




. Question ID : 5406262618
Q.103 FrrafafEm & & =19 o fagga wow s waf rem = 87 Status - Answered

Ans x 1. ardry Chosen Option : 4
25 2. T
25 3w

Q.104 The preferred locat ion of hydroelect ric power plant inst allat ion is:
Ans x 1. deserts

x 2. flat areas

( 3. hilly areas
x 4. deltas

Question ID : 5406262632
Status : Answered
Chosen Option : 3
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Question ID : 5406262578
Status : Answered
Chosen Option : 3
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Ans  off 1
2% 2. FErErTa T
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Question ID : 5406262643
Status : Answered
Chosen Option : 2




Ans

Ans

Ans

X

motor for:
( 1. self starting
x 2. carrying high current
x 3. better cooling

x 4. safety features

Q.108 Which type of fault is a symmetrical fault?

x 1. Line-to-line fault
x 2. Single phase ground fault
( 3. T hree-phase short-circuit faults

x 4. Line-line-ground fault

Q.109 Capacit ance mult iplier used in elect rost at ic inst rument is used for t he

measurement of :

X 1. low DC Voltage
x 2. low AC Voltage
( 3. high AC Voltage

x 4. high DC Voltage

Q.110 &Y ofy vy & v fF@ Aex &1 gAer fFay sar 272
Ans X 1. DC 933 #ET x 2.3-%3 Y07 AT

3. THA-BT YIOT ANEY
4. geaFIfa®E AT

Q.107 In a single-phase induct ion mot or, the shaded pole winding is provided to enable t he

Question ID : 5406262590
Status : Answered
Chosen Option : 1

Question ID : 5406262628
Status : Answered
Chosen Option : 1

Question ID : 5406262577
Status : Answered
Chosen Option : 4

Question ID : 5406262596
Status : Answered
Chosen Option : 4
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TS O A1 @ e 7 o age §7 Status : Not Answered

Option : -
OV,5V, 10V, 20V, 50V, 60V, 50V, 20V, 10V, 5V, 0V, -5V, =10V, arf%)

Ans "7 37V
23
/< 353V
75 as3v

|u.11z o & ferg amafin wonet =1 T e g Pt F & e s o e =t frar =
&

Ans x 1. =T
JZ. FrrafRr &t dem
25 3. =t
X 4 e
Question ID : 5406262527

Status : Answered
Chosen Option : 2

Q.113 What is t he average value of the signal shown in t he following figure?

Ans X 10667V
5 2,667V
W 3667V
X 4667V

Question ID : 5406262546
Status : Not Answered
Chosen Option : -

Q.114 In a separat ely excit ed DC generat or, t he prime mover is connect ed:

Ans X 1.in series with field winding
J 2. with armature
75 3. with field

X 4. in parallel with supply voltage

Question ID : 5406262560
Status : Answered
Chosen Option : 1




.115 farslt OH #1g= dgeiee o fame g am FrrnsferfEm & & == & e =gt 87
Ans « 1. SO HeT0H

7< 2w Rada

x 3. =ifyw e

7< 4. v & wEr

Question ID : 5406262655
Status : Answered
Chosen Option : 4

0.116 The dif f used impurit ies, called as accept or at oms, have:
Ans x 1. 5 valence electrons

x 2. 0 valence electrons

“ 3. 3 valence electrons

x 4.1 valence electron

Question ID : 5406262552
Status : Answered
Chosen Option : 3

117 ag Atex @it AC & wru-ary DC &t 3mafd w ot oo awdt #, =01 Sgeandt #7
ans  off | ufeia e

25 2. fem Hex
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Question ID : 5406262592
Status : Answered
Chosen Option : 1
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Q.119 The speed of operation of a diode is decided by:
Ans x 1. frequency of operation

x 2. applied voltage across its terminal
x 3. duty cycle

« 4. reverse recovery time

Question ID : 5406262550
Status : Answered
Chosen Option : 4

Q.120 In a DC mot or, if Faraday- Lenz relat ionship is applied to the triangular-shaped flux
wave, it will result in:

Ans “ 1. rectangular-shaped voltage wave
x 2. DC voltage wave having no negative components
x 3. clipped-sawtooth-shaped voltage wave

x 4. triangular-shaped voltage wave

Question ID : 5406262565
Status : Answered
Chosen Option : 3

Question ID : 5406262538
Q.121 3 erert & v daefra Fyat =1 arvra gten &, & e wpema 7 Chosen s:t‘::: :: ;\"swered
Ans x 1. weEdm
75 2. et
o 3 vfEdm
25 4. shedad

Q.122 In which of t he f ollowing syst ems is a bat t ery NOT required?Ans
X 1. Solar inverter (standalone)
x 2. Electric vehicle

X 3.UPs

“ 4. Electronics ballast

Question ID : 5406262532
Status : Answered
Chosen Option : 4




Ans

Q.123 Open circuit test is conducted on a transformer to det ermine:

x 2. placing a magnet between HV and LV windings
“ 3. sandwiching HV and LV windings

x 4. providing air cooling between HV and LV windings

Q.126 Which of t he f ollowing f act ors will NOT af f ect t he t arif f of elect ricit y

consumption?
“ 1. Number of energy'meters‘connected
x 2. Power factor of the load
x 3. Maximum demand

x 4. Type of load

Ans X' 1 copper loss
x 2. thermal loss
“ 3. iron loss
x 4. both iron and copper loss
Question ID : 5406262573
Status : Answered
Chosen Option : 3
Q.124
Ans x 1.
v
X3
X a
Question ID : 5406262588
Status : Not Answered
Chosen Option : -
Q.125 In a shell type t ransf ormer, t he leakage current is reduced by:
Ans x 1. opening HV and LV windings

Question ID : 5406262567
Status : Answered
Chosen Option : 3

Question ID : 5406262622
Status : Answered
Chosen Option : 1
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Ans

Ans

X 1. e e 35 g frs e o
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25 3. o e s
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Ans ( 1.
X2
X3
X 4
Question ID : 5406262543
Status : Not Answered
Chosen Option : -
e - Question ID : 5406262605
qQ-128 by = il Status : Not Answered
Ans

Chosen Option : -
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Question ID : 5406262558
Status : Answered
Chosen Option : 1

Question ID : 5406262664
Status : Answered
Chosen Option : 1




Ans

Q.132
Ans

Ans

Ans

0.131 U ST #@E B

f 1. ard-arer e
25 2. ETE- e
2< 3. s v
25 4. e v

X 2.
v
X 4

Q.133 The magnet ically soft mat erials have:

« 1. high permeability
X 2. no magnetic properties
X 3. no permeability

X 4. low permeability

©.134 fergirg morreft & forg & e avsft geem ar g7

2% 1. ity Rt
2< 2. g

«3.ﬁdr-jéol:—'u1.!;__:r
25 4. TmEmR

Question ID : 5406262633
Status : Answered
Chosen Option : 1

Question ID : 5406262544
Status : Answered
Chosen Option : 3

Question ID : 5406262539
Status : Answered
Chosen Option : 1

Question ID : 5406262616
Status : Answered
Chosen Option : 3




Q.135

Ans x 1.
o2
X 3.
v 3

Question ID : 5406262606
Status : Answered
Chosen Option : 4

Q.136 The elect ric circuit used t o convert unregulat ed elect rical energy t o regulat ed
energy in solar PV application is knows as:

Ans x 1. thermal converter
x 2. RLC converter
x 3. R-L circuit

“ 4. power electronics converter

Question ID : 5406262635
Status : Not Answered
Chosen Option : -

|Q.13? itferae andergs (GaAs) Fve wenre = ward §7

Ans O sfEEreE
x 2.4t
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Question ID : 5406262521
Status : Answered
Chosen Option : 4

0.138 HVDC ghafiem & w7 fFa @ e eeg = &7
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Question ID : 5406262648
Status : Answered
Chosen Option : 4




Q.139 Which of t he f ollowing is NOT an overload relay?
Ans x 1. Electromagnetic

W 2. static
x 3. T hermal

x 4. Induction

Question ID : 5406262617
Status : Answered
Chosen Option : 2
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Question ID : 5406262564
Status : Answered
Chosen Option : 2

Q.141 The volt age generated by a solar PV at its out put t erminal is:

Ans  of 1 DC
X 2.AC
x 3. impulse
x 4. exponential
Question ID : 5406262639

Status : Answered
Chosen Option : 1

Q.142 The initial cost of which type of t ransmission lines is high?
Ans x 1. Overhead transmission line

x 2. HVDC transmission line

x 3. HVAC transmission line

“ 4. Underground transmission line

Question ID : 5406262649
Status : Answered
Chosen Option : 4




Q.143 Which of the following types is NOT used as a single-phase induct ion mot or startingt
ype?

Ans x 1. Capacitor start motor
x 2. Two value capacitor motor
( 3. Voltage dip motor

x 4. Resistance split phase motor

Question ID : 5406262591
Status : Answered
Chosen Option : 3
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Question ID : 5406262642
Status : Not Answered
Chosen Option : -
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Question ID : 5406262602
Status : Answered
Chosen Option : 2

0.146 T n-Tn1? w1 vard 77 s o sramdn s R e Bl @
|

Ans 17 el seaete
2< 2.1 sttt sagt=
JZ. 5 Hetal Swagtea

< 4. 0 wreh gem
Question ID : 5406262551
Status : Answered
Chosen Option : 3




Q.147 If the solar irradiance increases, then for solar PV, the power out put will:

Ans 1. decrease
2. radiate
3. increase

4. remain same

Question ID : 5406262637
Status : Answered
Chosen Option : 3

0.148 fareft e PV 1 PV 7 & gt &7
Ans “1.@1’;‘@?
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75 3.

25 4. iy

Question ID : 5406262638
Status : Answered
Chosen Option : 3
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Question ID : 5406262571

Status : Answered
Chosen Option : 4

Q.150 Which of t he f ollowing are unknown paramet ers f or slack or ref erence bus?
Ans X 1. Active power, voltage

( 2. Active power, reactive power

X 3. Reactive power, voltage

x 4. Active power, rotor angle

Question ID : 5406262625
Status : Answered
Chosen Option : 4




